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1 BERIT S S N R D R 1, 087 1, 165 2,252
o2 HERIW S S b BCR o 1,309 1,475 2, 784
3 HERIT S A HO ¥ K 903 1,025 1,928
o4 BEXE P OB R A& k& 2,160 2,014 4,174
5 HERI B R B o X — 795 858 1,653
o6 WERIT S N Bl ) R 1,712 2, 064 3,776
%7 BERT OS2 KOk A ol 1,137 1,421 2, 558
o8 WEXIE N B A& fm Ak & fF 1, 261 1, 905 3, 166
o9 BEXIM 2 b ok A R 1, 632 1,977 3, 609
Hlro®EXm v & Jb o | 1,778 2, 040 3,818
1 1THEERIAE LT R A Ak & fF 1,013 1, 259 2,272
12 ERIE X A Ak v Z — 1,710 1, 706 3,416
w13 wEXT S W ok A & 1,003 1, 046 2,049
FlaBmERT OS2 fn ok % &K 1,826 1,763 3, 589
F1SHERIT S B b B 2,590 2, 826 5,416
FI6RERF FHFaI2a=2T 0B X — 1, 257 1, 567 2,824
1T ERERT S € A o 1,974 1, 882 3, 856
1 SEERE B BT KR A& & ak & fE 975 890 1, 865
1 9 B EX /N IR E RN e o Z — 2,479 2,343 4, 822
2o EXIT 2 B OB N R 1,933 2,061 3, 994
wmo 1 WERIT S Y FE R %K 861 888 1, 749
F22WERIT s ok HE o/ OR|[ 2,123 2,112 4, 235
wosEERIT 2 Jb 2 o] 1,513 1, 663 3,176
F2AREXIT s B I N TR 1, 082 1,275 2,357
92 5 X L AL AR L e B iR 1,916 2, 084 4, 000
E26HFEXIL b LB A mE ek & 1, 747 2,112 3, 859
H2 THEXIT S H O b K| 2,454 2, 689 5, 143
o SEERIM K AT HT N & fE| 2,477 2,781 5, 258
R S TR A T A A - S 1, 765 1, 967 3, 732
FE3O0HERIT s w I N ol 2,737 3, 061 5, 798
H3 1 RERIE X b I R A & ak = fF 1,633 1, 818 3,451
W3 2WERIT N 8 M N 1,813 1, 878 3, 691
W3IWHEXIOF L a3l a =T 4% —| 2,328 2, 466 4,794
FIAERITT N2 B R % B 1,456 1,768 3,224
FHOSHRERIE m &K i kB v & — 250 305 bbb
FIOHREXE ) imaAIa =T 4K — 1, 656 1, 502 3, 158
W TREX S B O/ ww o | 1,772 1,823 3, 595
FH3SHERITT . o B /N K| 4,906 4,472 9,378
E3OHRERIT v v N A Rl 3,484 3,417 6, 901
4 0 FREX| R A N B fil 835 854 1, 689
A THRERE S 7 7 X — & v H — 597 632 1, 229
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